
nmUr AmV òÊ`mbm
CÎm_ arVrZo à{VamoY H$aVo

bd{MH$ AmdaUm_wio 50% n ª̀V 
VmUbo OmD$ eH$Vo d Ë`m_wio 

CÎm_ dm°Q>aàyq\$J {_iVo

H$m±H«$sQ> d ~m§YH$m_mÀ`m
n¥ð>^mJm§Zm CÎm_ arVrZo {MH$Q>Vo

KmVH$ Zmhr

Ë`mda 12-15 {_{_ g§ajH$ ßbmñQ>aMo AmdaU 
(1 ^mJ {g_|Q> + 3 ^mJ dmiy) 
S>m°. {\$pŠgQ> {n{S>ày\$ EbS>ãë`y+ gh 
(200 {_br {g_|Q>À`m àË òH$ nmoË`mgmR>r) bmdm. 

nm`ar 5

50%

Ago  H$m hmoVo?

S>m°. {\$pŠgQ> {n{S>{\$Z 2K Mr {ZdS> H$m H$amdr 

S>m°. {\$pŠgQ> dm°Q>aàyq\$J _mJ©Xe©H$ nwpñVHo$gmR>r <DF> Agm EgE_Eg 57575 H«$_m§H$mbm nmR>dm

nmUr da Amë`m_wio
`oUmam Amobmdm 

∙ nmUr O{_ZrImbrb _mVrÀ`m WamVyZ daÀ`m {XeoZo `oVo `mMo 
H$maU åhUOo O{_Zrdarb nmÊ`mMr nmVir OmñV AgVo.

∙ O{_ZrImbrb ~m§YH$m_mgmR>r H$moUVohr S>±n àyq\$J 
(Amobmdm à{V~§YH$ Cnm` ) Ho$bobo ZgVo qH$dm AmYr Ho$boobo 
S>±n àyq\$J Iam~ Pmbobo AgVo. 

Cnm` 

S>m°. {\$pŠgQ>
{n{S>{\$Z 2K

`mMm Cn`moJ H$gm H$amdm

~m{YV Pmbobm ^mJ H$mTy>Z Q>mH$m d ñdÀN> H$am
Á`m_wio drQ>H$m_mn`ªVMm ^mJ ~mhoa {Xgy bmJob.

nm`ar 1

S>m°. {\$pŠgQ> {n{S>H«$sQ> ỳAmanr {g_|Q>_Ü ò 1:1.5 `m 
à_mUmV {_giyZ (1 ^mJ ỳAmanr : 1.5 ^mJ {g_|Q>) 
Ë`mMm 1 Wa  @20 Mm¡. \y$Q>/{H$J«m `mZwgma ~m{YV 
OmJoda bmdm  Am{U ~m{YV OmJoÀ`m da 2 \w$Q>m§n ª̀V 
Ë`mM àH$mao Wa q^Vrda bmdm.

nm`ar 2

S>m°. {\$pŠgQ> {n{S>{\$Z 2K Mo 2 Wa 
@6 Mm¡. \y$Q>/{H$J«m `mZwgma 4-6 Vmgm§Mo 
A§Va gmoSy>Z bmdm. Xþgam Wa 1 ë`m WamÀ`m 
900 _Ü ò bmdm. 

nm`ar 3

~m±S> H$moQ> (1 ^mJ {g_|Q> + 1 ^mJ `yAmanr + 
1 ^mJ OmS> dmiy) bmdm d 
Vmo 4-6 Vmg dmiy Úm.

nm`ar 4


